
Subject: Re: Angstrom sign
Posted by bhill on Wed, 25 May 1994 16:43:48 GMT
View Forum Message <> Reply to Message

On page 9-7 of the IDL User's Guide (V 3.1) you see that the angstrom
sign is octal 305.  So, for example:

   xyouts, 100, 100, 'Wavelength = 1500'+string("305B)

This works with the Hershey fonts; I'm not sure about PostScript.
Many other letters with diacritical marks from non-English European
alphabets are also available in the same way.

Bob Hill

--
Robert.S.Hill@gsfc.nasa.gov  Not speaking for any of these:
Hughes STX Corp., Code 681, NASA/GSFC, Greenbelt, MD 20771
"There's nothing you can't prove if your outlook is 
only sufficiently limited." -- Lord Peter Wimsey
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